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GradiT arafties qdaT —(2021-2022)
Second Terminal Examination — (2021-2022)

HAISS -9
Model Question-paper
de-1 (Set-1)
- 11 fawa- danmeeT quitE- 40 AT - 1.30 ©eT
(Class-11) (Sub- Accountancy) (F.M.- 40) (Time- 1.30 hour)
ATATY fA&er- (General Instruction):-

JATHAT el el H 3G |
(Candidates are required to give their answers in their own words as far as practicable.)
el YRl ! HEAT 19 B

(The total number of questions is 19)

9T H. | F 9T H. 7 b fcielg 3o 99T §1 37 & fohdll uier geait & 3R
31fFaH T a1 & TT| TcAeh 9ET T AT 2 37 AeTRT &1

(Question No. 1 to Question No. 7 are very short answer type questions. Answer any
five of these questions in one sentence. Each question carries 2 marks.)

R . 8 A T2 H. 14 cTeh ofg] 3 9T ¢ | 31 O fohagdl 5 URaAl & 3ei 31f&rehid
50 eregT H SIfSTT| Ucdeh Wt &l AT 3 37k AUTRI ¢l

(Question No. 8 to Question No. 14 are short answer type questions. Answer any five of
these questions in maximum 50 words. Each question carries 3 marks.)

YT . 15 T YT I. 19 deh &Y 398 9T &1 398 T foregr dieT 9eat & 3
3TTAHTH 100 2Tee] H EITFT| TcAeh 9T T AT 5 37 AUTRT &

(Question No. 15 to Question No. 19 are long answer type questions. Answer any Three
of these questions in maximum 100 words. Each question carries 5 marks.)
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Jrfaderg 3a8r 9T (Very Short Answer Type Questions)

1.

e & FAT 3 g2

(What is the meaning of Depreciation?)
g1e T FAR Ay & ar o @1 o
(Write two merits of Diminishing methods of Depreciation.)
T ¥ 39 FI7 JF7Sd g ?

(What do you understand by Reserve?)
faeirar faawor «/am § ?

(What are Financial Statements?)

TcdeT SIF & &1 3aIeNT &

(Give two examples of Direct Expenses.)
3qut o yorel & g ?

(What is Incomplete Records System?)
AFedIR T 3T FIT AT 87

(What do you understand by software?)

g 3d09 92T (Short Answer Type Questions)

8. Th BH o 1,75,000 & T AMT 1 FToqad), 2018 & @IS TS IFhT TATT 9T 225,000
ag [T 3EHT AT Shael @lel 5 Iy FH UT| JAT & 3ded A 10,000 & 3FafAse

9.

5%2=10

5x3=15

Hed & TA SEIAT a1GT| dTiseh §T8 T Ihe Td g1 T X i 0T S|

A firm bought a machinery for 1,75,000 on 1st January, 2018 and spent ¥25,000 on its

installation. Its life was estimated to be 5 years. Its estimated scrap value would be

10,000 at the end of the period. Find out the amount of annual depreciation and the

rate of depreciation.
B & Hel ded SdSU|

State the basic elements of depreciation.

10. §99 & did Agcd adSU|

State the three importance of reserve.

1. rfaf@a gaemst & sfean wiaar va 99 = Ate & @t i T Hi-

From the following information, calculate Closing Stock and Cost of Goods Sold:

IR{Fe Efaar (Opening Stock). Z10000
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12.

13.

3% (Sales). 40000

3edRe IMST HTST (Carriage Inward). %2500

fashar araaY (Sales Returns). 73000

Gehel oIt (Gross Profit). 315000

%I (Purchases). 10000

%Y argdr (Purchases Returns). %2000

#elgdl (Wages) 12500

gedlel A & AeEfaf@a wricaar dellera wiicaar § ar 3mgerd |

(Identify,whether the following receipts are Capital Receipts or Revenue Receipts) :

AT &1 AT

(Sale of Goods) 80,000

T g oy ARl sfaferd gt

(Additional Capital introduced by the proprietor) %1,20,000

3998 W o T o9 | Ut

(Rent received from building sub-let) 50,000

A Ud HaeT hT kT

(Sale of Land & Building) %2,50,000

AR 99, 9T U sider 3Mfe T fahr & grea iy

(Amount received from selling of newspapers, boxes, bottles) 35,000.

HIgeT, ST 37el GEAhl T Fhed AT YUl & IMUR TR IR Hd 8, I Ig ol & §

fh 31 AT 2019 1 Ta 1 31¥4el, 2018 &I 3o Yoil s T 1,75,000 Ta X 1,90,000 ATl
g6 AT IR g G Fd § 6 a¥ & R 3= FiFaera Frit & faw 70,000
3meRa fwl 35 ¥ 20,000 & 39eT R_AfATRT FF 5% NATA T o7 &A1 F41 9red A Hr
TG H o9 f&AT| 39 oIeT 3Yar gl &7 f¥avor SRR fifau|

Mohan who keeps his books on single entry system, tells you that his capital on 31st

March, 2019 is 1,75,000 and his Capital on 1st April 2018 was 1,90,000. He further

informs you that during the year he withdrew for his personal purposes ¥70,000. He
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14.

sold his investment of 20,000 at 5% premium and brought that money into the business.
You are required to prepare statement of profit or loss.

AW ITHAT & SN ST T 31T &7

What is meant by automation of accounting process?

&rer 3a89 oA (Long Answer Type Questions) 3*5=15
g yp

15.

16.

17.

T HFTelr o 1 STeTadl, 2016 Fr T 13,000 dARTT Hr Uk HMeT THET TAT TR FAFHAT R
% 2,000 =77 fU| 1 SeTg, 2017 & 3HA 40,000 &1 T iR #feT wlidr 1 3, 2018
#r 39 7T F T 5,000 FH 97 &A@ S 1 A, 2016 Fr @Iy 15 A 30 3¢ T iRk
T g ALMT T 30,000 H @IET 15| HAWT g AT ganr 10% af¥e &3 & ufad av g
& e A S gl W 9id a¥ 31 fEF @ aeg R S g1 e a¥ @1 Aded
YTl da4171

A firm purchased on 1st Jan, 2016 a machinery for ¥ 13,000 and spent ¥ 2,000 on its
repair. On 1st July 2017 another machinery costing ¥ 40,000 was purchased. On 1st
April, 2018 the machinery bought on 1st Jan. 2016 was sold off for ¥ 5,000. and on
the same date a new machine is purchased for ¥ 30,000.

Depreciation is provided annually on 31st Dec. @ 10% p.a. on the written down value
method. Show the machine account for three years.

AT FIF qUT YoiHld HIT H 3ec’ T Hifv|

Distinguish between Revenue Reserve and Capital Reserve.
AFAlafd a3l & sAaTe @idr, «e7-glisl Wil Ta 3 faear aar &l (From the
following informations, prepare Trading Account, Profit and Loss Account and Balance
Sheet :
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&R (Debtors) 155000
¥sir (Capital) 14,00,000
39reT #T (Bad Debts) 4100
%= (Sales) 17,40,000
gre faer (Bills Receivable) 1,00,000
are-gifal @rar (Profit and Loss A/c)1(P.Y.)) 1,22,280
dclel U9 Helgl! (Salaries & Wages) 10,000
& U9 X (Rates and Taxes) 22,400
d& fafgey (Bank Overdraft) 20,000
S1AT (Insurance) 800
IHET g (Travelling Expenses) 35,500
AT g (General Expenses) 29,420
S1Eg ISy ATST (Carriage Outward) 94,240
3=g gFafaAar (Other Assets) 11,38,840
HTEI0T (Drawings) 10,000
IRfFe gfaar (Opening Stock) 5,60,000
3cqifed ATel $r &9Td (Cost of Goods Manufactured) 11,11,980
ST S (Work-in-Progress) 10,000
Total 32,82,280 32,82,280
31feaa gfaar (Closing Stock) 3,45,000

18. AIGeT 3Tl GEhT Sl FhedT oIWT JOTell o IMUR W IR T g| 3Hh &fded Td FFITT

fafad -
Mohan keeps his books under the single-entry system. His assets and liabilities were
as under:
Particulars 31-3-2018 31-3-2019
TATUT Ud AL 360,000 %80,000
(Plant and Machinery)
Tefaar (Stock) 334,000 332,000
fafaer ¢eigR (Sundry Debtors) Z39,000 Z45,000
U+g (Cash) 31,000 3900
&g foer (Bills Payable). Nil ¥5,000
fafaer a«igR (Sundry Creditors) %15,000 314,900
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ay 2018-19 & &R 38 % 10,000 tfaRerd Yol oMS| 3HT it A6 T 5,000 T @A
& forw 3meRd A1 31 AT, 2019 & FACT g arel a¥ & T 3@+ ey i aTurer
HIA|

During 2018-19, he introduced ¥10,000 as additional capital. He withdrew ¥5,000 every

month for his household expenses. Calculate his profit for the year ending March, 31st
2019.

19. ol@iehel H SHTYET &1 AT AT §72

What is the role of computer in accounting?
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